
Practice Paper 1
Mathematics X

80 Marks

2 hours 30 minutes

1

SECTION A
Answer any 4 in the section A. Each carries 2 mark

1. Hcp NXpc‾nsâ \ofw hoXntb¡mÄ 5IqSpXemWv. ]c¸fhv 150N-
Xpc{ibqWnämbmð hoXn xBbn IW¡m¡n Hcp cïmwIrXn ka-
hmIyw cq]oIcn¡pI.

The length of a rectangle is 5more than its width. If the
area of the rectangle is 150 square unit. Form a second
degree equation .

2. Hcp s]«nbnð , 2, 3, 4Fóo kwJyIfpw asämcp s]«nbnð
1

2
, 1

3
, 1

4
Fóo kwJyIfpw Hmtcm ISemkpIfnðFgpXnbn«ncn¡póp.

s]«nIfnð\nópw HóphoXsaSp‾v KpW\^ew ImWpóp.
KpW\^ew Hcp F®ðkwJy BIm\pÅ km[yX F{X?

The numbers 2, 3, 4 are written in small paper pieces
and placed in a box. The fractions 1

2
, 1

3
, 1

4
are written in

another paper pieces and placed in another box. One
paper is taken from each box without looking into the
boxes. What is the probability of getting the product a
counting number?

3.
√

18,
√

50,
√

98,
√

162 · · ·kam´ct{iWnbmWv. Cu t{iWn-

bpsS s]mXphyXymkw F{X? _oPKWnXcq]w FgpXpI
Find the common difference of the arithmetic sequence
√

18,
√

50,
√

98,
√

162 · · · . write its algebraic form.

4. Xmsg sImSp‾ncn¡pó Nn{X‾nð AB,CDFóo RmWpIÄ hr-

‾‾n\v ]pd‾v Pbnð JÞn¡póp. PA = PCBbmð
ABbpw CDbpw tI{µ‾nð\nópw Htc AIsebpÅ RmWpI-
fmsWóv sXfnbn¡pI

AB and CD are two chords of a circle meet outside at P .
If PA = PC then prove that the chords are equidistant
from the center of the circle

5. kqNIm£§Ä hc¨v (−1, 3), (2, 3)Fóo _nµp¡Ä ASbmfs¸-
Sp‾pI. Cu _nµp¡Ä X½nepÅ AIew IW¡m¡pI
Draw the coordinate axes and mark the points
(−1, 3), (2, 3). What is the distance between these points
?

6. 6skâoaoäÀ hi‾nsâ \ofapÅ kaNXpc¡Semkv hnIÀ®‾n-
eqsS apdn¨v tNÀ‾psh¨v ka]mÀiza«{XntImWw Dïm¡póp. Cu

ka]mÀiza«{XntImW‾nsâ hi§Ä F{X hoXamWv ? ]c¸fhv I-
W¡m¡pI
A square paper is cut along its diagonal. The pieces are
joined together to get an isoceles triangle. What are the
sides of this triangle? Calculate the area of this triangle
?

SECTION B
Answer any 4 in the section B. Each carries 3 mark

7. 63, 65, 67 · · ·Fó kam´ct{iWnbpsSbpw 3, 10, 17 · · ·Fó k-
am´ct{iWnbpsSbpw Hcp \nÝnXØm\‾pÅ ]Z§Ä XpeyamWv.

F{Xmas‾ ]ZamWvXpeyamIpóXv ?
The terms in a definite position of the arithmetic se-
quences 3, 10, 17 · · · and 63, 65, 67 · · · are equal. Find the
position where the terms are equal.
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8. Nn{X‾nðOhr‾tI{µhpw ABHcp RmWpamWv. tIm¬ CAB =
20◦ , tIm¬ CBA = 20◦Bbmð tIm¬ AOBIW¡m¡pI.
tIm¬ ADB, tIm¬ ACBIW¡m¡pI

In the figure Ois the center of the circle and AB is a
chord.

9. A(−3, 5), B(7, 5)C(4, 8)Fónh Hcp {XntImW‾nsâ ioÀj§-
fmWv. ABFó hi‾nsâ \ofw IW¡m¡pI. Cbnð \nópw
ABbntebv¡pÅ ew_w F{X? {XntImW‾nsâ ]c¸fhv IW¡m-

¡pI
A(−3, 5), B(7, 5)C(4, 8) are the vertices of a triangle.
What is the length of the side AB? What is the alti-
tude fromC to AB? Calculate the area of the triangle

10. {XntImWw ABCbpsS ]cnhr‾‾nsâ tI{µamWv O. tIm¬
ABC = 120◦, AC = 12skâoaoäÀ Bbmð ]cnhr‾‾nsâ
Bcw IW¡m¡pI

In the figure O is the center of the circumcircle of triangle
ABC. ∠ABC = 120◦, AC = 12cm. Calculate the radius
of the circumcircle

11. Nn{X‾nð Gähpw henb kaNXpcs‾ hi§fpsS a[y_nµp¡Ä
tbmPn¸n¨v \membpw , AXnsemóns\ hoïpw \membpw , AXn-
semóns\ hoïpw \membpw `mKn¡póp. Gähpw sNdnb kaNXpcw

tjbvUv sNbvXncn¡póp. CXntebv¡v Ip‾n«m Cu Ip‾v tj-
bvUnð hogm\pÅ km[yX F{X?

The outer square is divided into four small squares by
joining the mid points of the sides. It again divided into
four small squares, then again four squares. A fine dot is
placed at random in the figure. What is the probability
of falling the dot in the shaded region ?

12. HcmÄ¡v ]Xn\ôv hÀjw ap³]pïmbncpó {]mb‾nsâ hÀ¤ambn-
cn¡pw ]Xn\ôv hÀj‾n\v tijapÅ {]mbw . Ct¸mgs‾ {]mbw
IW¡m¡pI

The age of a man after 15 years will be the square of his
age before 15 years

SECTION C
Answer any 10 in the section B. Each carries 4 mark

13. (1,−1), (5, 2), (9, 5) Fóo _nµp¡Ä {XntImW‾nsâ ioÀj§-
fmIptam? F´psImïv ?
Are the points (1,−1), (5, 2), (9, 5) the vertices of a trian-
gle?Explain

14. Hcp sI«nS‾nsâ Nph«nð\nópw aAIsebpÅ _nµphnð\nópw
t\m¡pt¼mÄ apIfäw 30◦taðt¡mWnepw bAIse\nópw t\m¡p-
t¼mÄ apIfäw 60◦taðt¡mWnepw ImWpóp. sI«nS‾nsâ Dbcw

h =
√

abFóv kaÀ°n¡pI
A man observes the top of a tower at an angle of elevation
30◦ at the distance a from the base of the tower. When
observed from the distance b from the base , the top is
viewed at the angle of elevation 60◦. Prove that the height
of the tower h =

√

ab
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15. Hcp cï¡kwJybpsS A¡§fpsS KpW\^ew 12BWv. A¡-
§Ä Øm\w amän FgpXnbmð In«pókwJy BZykwJytb¡mÄ
36IqSpXemWv . kwJy Isï‾póXn\mbn HäbpsS Øm\s‾

A¡w xBbn FSp‾v cïmwIrXn kahmIyw FgpXpI. ]cnlmcw
Iïv kwJy IW¡m¡pI
A two digit number is such that the product of the digits
is 12. When 36 is added to the number the digits inter-
change their places. Take x as the digit in one’s place,
form a second degree equation .Find the two digit num-
ber.

16. 3skâo aoäÀ DóXnbpÅ ka`pP{XntImWw \nÀ½n¡pI.
Construct an equilateral triangle of height 3cm.

17. Hcp kam´ct{iWnbpsS _oPKWnXcq]w 6n + 7BWv . BZy-
s‾ n]Z§fpsS _oPKWnXcq]w IW¡m¡pI. _oPKWnXcq]w
D]tbmKn¨v BZys‾ 20]Z§fpsS XpI IW¡m¡pI. Cu t{iWn-
bpsS GsX¦nepw 20]Z§fpsS XpI 2017BIptam? F´psImïv
?
The algebraic form of an arithmetic sequence is 6n + 7.
Find the expression for the sum of first n terms of this
arithmetic sequence.Using this calculate the sum of first
20terms of this arithmetic sequence. Can the sum of any
20 terms of this sequence 2017? Why?

18. (3, 2), (−2,−3), (2, 3)Fóo _nµp¡Ä {XntImW‾nsâ ioÀj§-
fmIptam? .BsW¦nð GXpXcw {XntImWambncn¡pw? .
Do the points (3, 2), (−2,−3), (2, 3) form a triangle ?If so
name the type of triangle .

19. {XntImWw ABCbnð AB = AC = 12skâoaoäÀ . tIm¬
Bbpw tIm¬ Cbpw 30◦hoXamWv. {XntImW‾nsâ ]c¸fhv IW-

¡m¡pI .
In triangle ABC, AB = AC = 12cm, angle B and angle
C are 30◦ each. Calcualte the area of the triangle .

20. Hcp kwJybpsS hÀ¤‾nsâ cïv aS§nt\mSv B kwJy Iq«nb-
t¸mÄ 21In«n. Cu Bibw hyàam¡pó cïmwIrXn kahmIyw
FgpXpI. ]cnlmcw Iïv kwJy IW¡m¡pI.

If a number is added to twice its square,then the number
obtained is 21. Write the second degree representation of
this situation . Find the number.

21. Nn{X‾nð ABCDkaNXpcamWv. tIm¬ APD, tIm¬
AQDFónh IW¡m¡pI
In the figure ABCD is a square. Find the angle APD

and angle AQD.

22. −117,−113,−109 · · · Fó kam´ct{iWnbpsS _oPKWn-
Xcq]w FgpXpI. Cu t{iWnbnð F{X \yq\kwJym]Z§Ä
Dïmbncn¡pw. \yq\kwJym]Z§fpsS XpI IW¡m¡pI. BZys‾

A[nkwJym]Zw F{Xmas‾ ]ZamWv ?
write the algebraic form of the sequence
−117,−113,−109 · · · . How many negative terms
are there in this sequence? Calculate the sum of all
negative terms of this sequence. which term is the first
positive term of this sequence?

23. Hcp kam´ct{iWnbpsS BZy]Zw−12, Bdmw ]Zw 8BWv. s]mXp-

hyXymkw IW¡m¡pI. t{iWnbpsS _oPKWnXcq]w FgpXpI.Cu
t{iWnbpsS BZys‾ F{X ]Z§fpsS XpIbmWv 120
The first term of an arithmetic sequence is −12, sixth
term is 8. What is its common difference? Write the
algebraic form of the sequence. How many terms of this
sequence makes the sum 120?

24. 5 hiapÅ ka`pP{XntImWw hc¨v AXn\v Xpeyamb ]c¸fhpÅ
kaNXpcw hc¡pI. kaNXpc‾nsâ hi‾nsâ \ofw Afsógp-
XpI

Draw an equilateral triangle of side 5cm. Construct a
square whose area equal to area of the triangle . Measure
the side of the square .

SECTION D
Answer any 4 in the section D. Each carries 5 mark

25. Xmsg sImSp‾ncn¡pó kwJym]mtä¬ t\m¡pI

Htcm hcnbnsebpw kwJyIÄ F®n t{iWnbmbn FgpXpI

Ccp]Xmas‾ hcnbnse Ahkm\kwJy FgpXpI
CXp]Xmas‾ hcnbnse BZy kwJy F{X?
Ccp]Xv hcnIfnembn BsI F{X kwJyIÄ Dïmbncn¡pw ?

Ccp]Xv hcnIfnembn FgpXnbncn¡pó kwJyIfpsS XpI ImWpI
.
Look at the pattern . Count the number of numbers in
each line and write it as a sequence.
Which number comes in the right end of 20 th line?
Which number comes in the beginning of 20 th line?
How many numbers are there in 20 lines? Calculate the
sum all numbers in 20 lines

26. 7skâoaoäÀ \ofhpw 4skâoaoäÀ hoXnbpapÅ NXpcw hc¨v AXn-

sâ ]c¸fhn\v Xpeyamb ]c¸fhpÅ asämcp NXpcw \nÀ½n¡pI.
Cu NXpc‾nsâ Hcp hi‾n\v 6skâoanäÀ \ofapïmbncn¡Ww .
Draw a rectangle of length 7cm and breadth 4cm. Con-
struct another rectangle whose length of one side is 6cm
and having the same area of the first rectangle.

27. Hcp s]«nbnð 4Idp‾ ap‾pIfpw 5shfp‾ap‾pIfpw Dïv. a-
sämcp s]«nbnð 6Idp‾ap‾pIfpw 6shfp‾ap‾pIfpw Dïv.
cïnð \nópw t\m¡msX HóphoXw FSp‾mð

In«póXv cïpw Idp‾ap‾v BIm\pÅ km[yX F{X?
In«póXv cïpw shfp‾ap‾v BIm\pÅ km[yX F{X?
Hsc®sa¦nepw Idp‾ap‾v In«m\pÅ km[yX F{X?

Hcp shfp‾ap‾pw Hcp Idp‾ap‾pw In«m\pÅ km[yX IW¡m-
¡pI
A box contains 4black balls and 5 white balls. Another
box contains 6 black balls and 6 white balls. One ball is
taken from each box at random.
What is the probabilty of getting both balls white?
What is the probabilty of getting both balls black?
What is the probability of getting atleast one black?
What is the probabilty of getting one white and one black

28. Hcp NXpÀ`pP‾nsâ cïv FXnÀhi§Ä kam´camWv.aäv cïv
hi§Ä kam´cañ. Cu NXpÀ`pP‾nsâ hnIÀ®§Ä Xpeyam-

bmð N{IobNXpÀ`pPambncn¡psaóv sXfnbn¡pI
One pair opposite sides of a quadrilateral are parallel and
other sides are not parallel. Prove that this quadrilateral
is cyclic

29. cïv kaNXpc§fpsS ]c¸fhpIfpsS XpI 468,NpäfhpIfpsS hy-
Xymkw 24Bbmð kaNXpc§fpsS hi§Ä F{X?

The sum of the areas of two squares is 468. The difference
of their perimeters is 24. find the sides of the square .

30. Hcp Shdnsâ Nph«nð\nópw t\m¡pt¼mÄ Ipd¨IsebpÅ sI«n-
S‾nsâ apIfäw 30circtaðt¡mWnð ImWpóp. sI«nS‾nsâ
Nph«nð\nópw t\m¡pt¼mÄ Shdnsâ apIfäw 60◦taðt¡mWnð
ImWpóp. Shdn\v 50aoäÀ s]m¡apsï¦nð Shdpw sI«nShpw X½n-
epÅ AIesa{X? sI«nS‾nsâ Dbcw F{X?
A man observes the top of a building from the bottom
of a tower at an angle of elevation 30◦. He observes the
top of the tower from the bottom of the building at an
angle of elevation 60◦.If the height of the tower is 50meter,
calculate the distance between tower and the building and
the height of the building

2

2This paper is prepared on the first six chapters.This is not
a model paper.
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